
William J Holtz
carrying down the value from part b...
J(0)=58.239A/cm^2

William J Holtz
carrying down the value from part b...
J(1um)= -58.24A/cm^2

William J Holtz
linearly doped implies n(0.5um)=[n(1um)-n(0)]/2 ~ 5e14
n(0.5um) != 5e12
Therefore the answer to part b should be -520V/cm











William J Holtz
phi_B is a positive number
so -0.72 should not have a negative sign.

William J Holtz
Xd=2.73um

William J Holtz
Carrying down Xd
Cactive=3.79nF/cm^2

William J Holtz
Carrying down again...
CactiveTotal=2.35fF




